


(g8 b3 4ok 3
N i g0 o ) 922

Pﬁg“ﬁfﬂ,‘j‘iﬁﬁ&ﬁ

+4.45
R

+3.60

0%,

N |
N
N
NN |

Y

VY T




+1130 |

+850
900

+550 |

+250 :

+.0.00

700

200

500

30 80

270

IBG

[ ——

270

30

220

®

®

700
200 500
® =
&7 >
200 k45 170 10 240 ho 220 420
ol O : o
33 +850 8
+550
$+250
[ ~ |
i 20 200 10 240 21 205 20 '

T

=

20



| 490 |
| 145 | 200 | |145 |
| 1 | 1
0 T 0KB=80 |
[#)]
o O %
3 S g +20 |
D_ — —
A 7o)
> {I/100
"“ 000 \2207T
| 340 . )30 20
1 1 i
=
sS @bl o H_B

Lo 39 ool O 590 pidls

Jow gl sl i 9 s
ol o 59 2 SO90E iy



L 9 50 0oLt O 90 piNs

Sleond )0 pllas i ialod (G o)
&S o> s el 1 Hleisly 31 09,95 i
odliiw! ! plaw £ KN S0 Sy 2
42 33P0 J9ild i 5 42913 Y gnmo S g g0
S0 woo B> Sommd 31 T 10 9 Cwl

TR R T
o O O O YO Y
AT AT

” bt

=3 e

L il . kL
AT AR L

) H‘@ OOM‘

7777 T



| | Xﬂi, N

1

& q

éxﬁsw : 5 A S

G AR (s sl

| & ol Job i
%741‘:‘]# ,__)_,S‘l.;t}’f#‘
|
(FL)g>
al 63 )
o2 — 1
das [
+ 5 J
f-_ onp) § 3
B
l




soor P

790

—— ——

— ——

50 170 | 570
| 1
—— = o o
|
| S =
| —_— g
|
| o
| o
| = 5 &
E + oy = b
3 | S i o |° ® S
| = 3 3
|
| —_— —
: T Eq
(1]
© l== =" Qo = = N w©
| A @
N ! % N 1
I F o = —
S _ _ u -
N o
IS N 5 "l [
~ | o ) o
3 | @@ i
—+ o
(11T T
5 | o 3
o R 2e0 150 {$ 240 3 |
S : & 09T=8"1"0 @
N  —| = 1
50 350 1 60 330

— ——
e

1
790

—

R 9
2) Slasuio 1)1 55 JSb 50 OW 30 909
1) B-B oud aduin iy mbledgn ol
Uz
g gl Ae i 50 IS 0 I0il —
o gilnle Aiw sl —
yingoluhAs Al cady Wit —
o golud 59 cwlno —
ya gl e Lo o 85, —
o gWwO.K.B 80 )) ooy jloitcwms —



oooooooooo
..........
..........
..........

oooooooooo
..........
..........

oooooooooo




520

T

1290 20 120

| 170 | 210 | 140 |
T I 1 1
12 +414 :
hl T
L T o
grq-—‘:"_— f -+ |—|__ — —
A o % 170 210 %
R et /
1 9 /;
ol o
il TI0L

A 1008,
—

+702

ccccccc
ccccccc




b 9o 4y

300
150

. Toor.

A v1008, il

75

&

:
s

=

L

o
ey

¢




®

I 900 I
280 300 300
! &
A o p— e ey ——
O I 0.K.B=100 [
~
~ I
[=]
s}
- 0.K.B=B0
(=]
[=]
=
= JTSSY|
| ~ = kT
‘ Sy SaxAE
™7

1550

450

400

280

olib o
Sc. IRRE

400

1 e 3
; 200 O |
! 280 300 300 !
| (=]
2 0.KB=1 0.K.B=185

B70

450

l
[
-3
s
340

490

sl

'l




= o ] - =] -
= o2 - - =] =
o [ - - =] -
+ + + + H 1
o
o
o™
L 1
S| 08 P4 vLe Delv+! osL 1 og ¥LL
= l
g S8 pi vLE De] 65 1 GLZ 149"
| |
2 ce pd +#4 7 ooeg e osfd ooZ e 852
Y
o
ul
=+
g 0ce D4 vie L 6LE 3 09¢
Q
Q
=
l | | |
sdlpd z¢e ' oSk T o= Ede¥’  0S 08 B4 12v T ozL B o9l
[t = -] (=] -
g 8 g 2 S
T + + +H _



